Text book Page no.67,68

1. Express the shaded parts in fractions and decimals.

(@ 5 =05 (b) 17_= 1.7
10 10

~ 2. Find the missing decimals.
0.9 2.1 2.8

3. What is the volume of water in the beaker(s)?
(a) 0.61 (b) 1.41

4.

(a) The number shown above is 61.8
The digit 8 is in the tenths place. Its value is 0.8

(b) The number shown above is 854.3
The value of the digit 3 is 0.3

(c) The number shown above is 914.5
The value of the digit 5 is 0.5

Text book Page no.70

1 ) s
to the nearest whole number is 29

28.9 rounded off
29.5 rounded off to the nearest whole number is 30

2 Round off each of the following to the nearest gram.

(c) 537.4g=537¢g

(2) 89.8g =908 (b) 246.1g =246g

a 2.5m long ribbon. Round off this length to the nearest metre.

3. Amber bought

2.5m =3m
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ed parts in fractions and decimals.

1. Express the shad
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4—: As a fraction: % As a fraction: 'm ot
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3. Write the missing decimal in the box proQided.

(a) | .
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e each measurement in decimal.
r

2kg

1f3/:oﬂg

1kg

The mass of the packet of flour

/ | ll in the boxes. " .

(b)

The length of the paper clip

~ Tens Ones

Hundreds

~ Tenths J

3 | 1 | 4

1|

The number shown above is | 374 - | |

Bei=

Theﬁdigit@ is in the tenths place. Ifs value is

. Fillin the boxes.

(al 1‘3[3
4 VAR IRT IR Y WO T W T A B B L‘>
3 AL KA, LN B | .
13 14 15
(b) 3,i, )
(Jl-_} — E PRI N T A T M 0 | s
LI T B g
30 31 32
e 77.5
*—-\-H_IL ! Ly v oo b by ey 1J_,s
LI I L B 1 I'| ;
7 77.5 78

When rounded off

133is| |3

to the nearest whol_e number.

317is| 32_ |when rounded off

to the nearest whole number.

775is| 78
o the nearest whole numbe

when
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